
Fi
na

l 
A

ss
em

bl
y 

Po
si

ti
on

Screw to secure  
L Part into G Part.

G

L

O
P

T
IO

N
A

L
 P

A
N

E
L

L Part slots  
into G Part.

The graphic image panel sits on the L Part  
and is secured against the G Part.

Option 2. 
Graphic image printed 
on the back or front 
of the front panel.
(No back panel)

Option 1. 
Graphic image 
held between  
a back panel  
and a clear  
front panel.

BACK PANEL FRONT PANEL

GRAPHIC IMAGE

Important:  
Use approved wall anchors when required.

The internal back wall of  
G Parts accommodates an 
8 or 9 gauge countersunk 
screw or bolt.

Fi
na

l 
A

ss
em

bl
y 

Po
si

ti
on

O
P

T
IO

N
A

L
 P

A
N

E
L

Screw to secure  
L Part into G Part.

G I

L

Option 2. 
Graphic image printed 
on the back or front 
of the front panel.

Option 1. 
Graphic image 
held between  
a back panel 
and a clear 
front panel.

BACK PANEL FRONT PANEL

GRAPHIC IMAGE

Important:  
Use approved wall anchors when required.

The back panel is secured to the G Part with 
the I Part. The front panel sits on the L Part 
and is secured against the back panel.

I Part screws  
into G Part. L Part slots  

into G Part.

The internal back wall of  
G Parts accommodates an 
8 or 9 gauge countersunk 
screw or bolt.

INSTALLATION          without border

INSTALLATION          with border

www.pizazzsystems.com

Installing edgemounts on walls

P
E

R
FORMANCE 

Q
U

A

L I TY  AND

 

GUARANTEED

edge•mounts

See our innovative Multimount and Monomount standoff systems at: www.pizazzsystems.com
Pizazz is a registered trademark of Pizazz International Limited. © 2016 

•	 Use your panel as the template to position panels on walls.
• 	 Ensure that the fixings you use to secure G Parts are suited to the type of wall they are being attached to e.g. when  
	 securing to wood use 8 gauge counter sunk head wood screws. When securing to plaster board, concrete, block etc.  
	 obtain wall anchors specfically designed for use with the wall material from your hardware store or specialist supplier.
• Ensure that your G Parts are secured strongly enough to hold the entire loading on the G+L Parts.



www.pizazzsystems.com

P
E

R
FORMANCE 

Q
U

A

L I TY  AND

 

GUARANTEED

edge•mounts

See our innovative Multimount and Monomount standoff systems at: www.pizazzsystems.com
Pizazz is a registered trademark of Pizazz International Limited. © 2016 

www.pizazzsystems.com

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Bolt

Mounting an G Part on a panel

Mounting G Parts back to back

M4 x 011
Washer

(optional)

M4 Hex Nut

M4 x 08 Lock Washer

Add panel thickness to bolt lengths above
.157” .354” .472”

12mm9mm

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Hex Nut

M4 x 08 Lock Washer

M4 Bolt

O
p

ti
o

n
al

 p
an

el

Installing edgemounts on panels

www.pizazzsystems.com

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Bolt

Mounting an G Part on a panel

Mounting G Parts back to back

M4 x 011
Washer

(optional)

M4 Hex Nut

M4 x 08 Lock Washer

Add panel thickness to bolt lengths above
.157” .354” .472”

12mm9mm

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Hex Nut

M4 x 08 Lock Washer

M4 Bolt

O
p

ti
o

n
al

 p
an

el

G Part



www.pizazzsystems.com

P
E

R
FORMANCE 

Q
U

A

L I TY  AND

 

GUARANTEED

edge•mounts

See our innovative Multimount and Monomount standoff systems at: www.pizazzsystems.com
Pizazz is a registered trademark of Pizazz International Limited. © 2016 

www.pizazzsystems.com

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Bolt

Mounting an G Part on a panel

Mounting G Parts back to back

M4 x 011
Washer

(optional)

M4 Hex Nut

M4 x 08 Lock Washer

Add panel thickness to bolt lengths above
.157” .354” .472”

12mm9mm

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Hex Nut

M4 x 08 Lock Washer

M4 Bolt

O
p

ti
o

n
al

 p
an

el

G Part

Mounting edgemounts back to back

www.pizazzsystems.com

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Bolt

Mounting an G Part on a panel

Mounting G Parts back to back

M4 x 011
Washer

(optional)

M4 Hex Nut

M4 x 08 Lock Washer

Add panel thickness to bolt lengths above
.157” .354” .472”

12mm9mm

A
d

d
 p

an
el

 t
h

ic
kn

es
s 

to
 

b
o

lt
 le

n
g

th
s 

b
el

o
w

M4 Hex Nut

M4 x 08 Lock Washer

M4 Bolt

O
p

ti
o

n
al

 p
an

el

G Part G Part


	edge_mounts_installing_on_walls-01
	edge_mounts_installing_on_panels-02
	edge_mounts_installing_back_to_back-03

